| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

N of reco track vs dxy

0.

syoesy angy

n o
fe B2
QS <
> o N
< °
R 5
1k W
oG M <]
— N o =
= e —
o 2
H
8
o 5 o
2
i H
2 o
o E K
T
LD o
L S
o F 1
V g
3
5 | S
) 8 1
5
z
_J\D/ o
< L~
£ £
o S S
g e
> o N
g =]
lk w
o g
= 8 o =
- —
[fe]
o o
I Yo}
! o
o —
‘ﬂ. I
o
I =t o
1 INd
2 )
|
Lo o
h £
(=) =)
n o
Ne fe
QS <
> o N
[Tpges N
2 3
oS M <]
— © N o =
s |8 =
[t} g
o
2
(=) 8 o
o 3
! 7] o
=} ° =
7l _
5 g
i = o
| 2 Id
S !
) 5
8
1 1 9 a I
S A I 7
= ] 5 >
G| 2 5

25-20-15-10-5 0 5 10 15 20 25

track dxy (cm)

20 30
track dz (cm)

10

-20 -10

0

syoen

P

0.95!

N of reco track vs dz

syoen oney

5
=3

0.!



	Contents
	Page 1


